Solutions

1. Ans. C

Total nhumber of girls enrolled in Painting in Institutes A
and C together= 250+150=400

Total number of girls enrolled in Stitching in Institutes D
and E together= 250+325=575

.. Required ratio= 400: 575 = 16 : 23

2. Ans. B

Total number of girls enrolled in Stitching in all the
institutes together

=325+ 250 +50+ 250+ 325 =1200

Number of girls enrolled in Stitching in Institute B =250

.. Required percentage
250

=-—"—x 100 =20.8 ~ 21%
1200

3. Ans. A

Number of girls from all institutes enrolled in
Painting=250+225+150+175+300=1100

Number of girls from all institutes enrolled in Stitching
=1200

Number of girls from all institutes enrolled in
Dancing=150+200+75+400+350=1175

.. Required ratio= 1100: 1200: 1175 =44: 48: 47

4. Ans. E
Total number of girls in Institute
A= 25043254150 = 725
Number of girls enrolled in Dancing in Institute
A =150
Hence, required percentage
=222 100 = 20.69%
725

5. Ans. E
Total number of girls in Painting= 1100

6. Ans. A

Toshiba sales in 2014 = 18% of 12500 = 2250

In 2015 sales increased by 12.5% = 14062.5

Toshiba sales = 12% of 14062.5 = 1687.5

% change in sales = (2250-1687.5)/2250*100 = 25%

7. Ans. A

Total HP sales in 2014 = (12500*12)/100 = 1500
Total HP sales in 2015 = (14062.5*%13)/100 = 1828
Total HP sales in both 2014 and 2015 = (1500+1828)

= 3328

8. Ans. D

Total Dell sales in 2014 = (12500*24)/100 = 3000
Total sales in 2015= (12500+ 12500*12.5/100)

= 14062.5

Total Lenovo sales in 2015= (14062.5*32)/100 = 4500
Required ratio = 3000/4500 = 2:3

9. Ans. A

Lenovo has maximum increase in sales from 10% to
32%.

10. Ans. D

Total HP’s sales in 2014 = (12500%*12)/100 = 1500
Total Acer’s sales in 2015 = (14062.5*%28)/100 = 3937.5
Required percentage = (1500*%100)/3937.5 = 38%

11. Ans. D

Total Boys in College A = 310
Total Girls in College B = 222
Difference = 310 - 222 = 88

12. Ans. E

Average number of Boys =
[(110*60%)+(100*51%)+(96*50%)+(100*57%)+(116
*50%)]/5 = 280/5= 56

13. Ans. C
Required Percent = (28/256) *100 = 10.93% = 11%
(approximately)

14. Ans. C
Required Ratio =52:39=4:3

15. Ans. C
Required Ratio =52:39=4:3

16. Ans. A

The pattern is

9*%11 =99, 11*11 = 121, 13*11 = 143, 15*11 = 165,
17*11 = 187

17. Ans. D

The pattern is

5*7 = 35, 9*%11 = 99, 13*15 = 195, 17*19 = 323,
21%23 =483

18. Ans. A

The pattern is
32-3 =6, 52-5 =20, 73-7 =42,92-9 =72, 112-11 = 110



19. Ans. C

The pattern is

1¥2 =2

1*¥2*3 =6

1*¥2*3*4 = 24
1*¥2*4*5 = 120
1¥2*3*4*5%6 = 720

20. Ans. D

3*%5*%7 = 105
9*%11*13 = 1287
15%17*19 = 4845

21*%23*25 = 12075
27%29*31 = 24273
21. Ans. E

No relation can be established between p & q.
I9p*—(9+12)p+12=0

90’ —9p—-12p+12=0
9p(p-1)-12(p-1)=0
©Op-12)(p-1)=0

4
“P_E,l

I 18¢° —50g+32=0
9g> —25¢+16=0

9g° —9g—16g+16=0

99(q-1)-16(q-1)=0
(a-1)(9q-16)=0
Lg= E 1

9
We cannot determine the exact relation.
since in case : p=4/3 and q=1 then p>q
but if : p=1 and q=16/9 ., then g>p

22. Ans. B
pP<g
I. 3P2 - (18 - 10) p - 60=0
3p2-18p + 10p-60=0
3p(p-6)+ 10(p - 6)=0
(p-6)(3p + 10)=0

10
Lp=6——

3
II. 2092 - 288q + 1036 =0
5q2 - 729 + 259 = 0
592 - 359 -379 +259=0
5q(q - 7) - 37(q-7)=0

(q - 7) (59-37)=0
37
g=12"1
7=157

23. Ans. E

Relationship can’t be established
I.p2-13p+36=0
p2-9p-4p+36=0
p(p-9) - 4(p-9) =0
(p-4)(p-9)=0
~p=4,9

II. 3g2-90g + 483 =0
g2-30g+161=0
g?-23g-7q+ 161 =0
q(q-23) - 7(9-23) =0
(q-23)(q-7)=0

q= 23,7

24. Ans. E

Relationship can’t be established
I.11p2-44p +6p-24=0
1lip(p-4)+6(p-4)=0
(p-4)(11p + 6)=0

6
p = 4——
11
II. 9092 - 15q - 75 = 0
692-q-5=0
692 - 6g+59-5=0

6q(g-1) +5(q-1)=0
(g-1)(69+5)=0

~q=1, -5/6
25. Ans. A
p>q
From both, we get
Il 40
Fee—gnd (= ——
&9 @ 3
26. Ans. A
L3 3o, 3
[35 wd2 " 7= 53
3 T h 4
35 257 215
=>—X —+4? =
& 4
14135 215
=> - —_—— — =
24 4
12845 3
=> 7 = - = - 5 [—
24



27. Ans. B

=2 3 +d? W 3
5 . i)
135 B 35
5 39 O
28
o
]
28. Ans. E
X% of 550 — 12% of 150 = 125
550)(1:_150)(]2 _125
100 100
550xx o o
XX 108418 - 143
e 143100 Y
550
29. Ans. C
4% of 250 x? % of 140 = 84
1 ?
— M 250 —— x40 = E4
100 100
1000 7
T <140 -84
100 100
34
9-2%
14
- 92-6
30. Ans. E

e+ (03) =(0.027) x(0.09) +(0.03)°
(03) =(03)" x(03)" +(03)°
(0.3) =(03)"""

2 T-0+4-06
7-4

31. Ans. C

Case -1:

o PxExT -m{ meﬁ]_m S808
LLL 10

Amount = Principal + SI = Rs (24200 + 5808)
= Rs 30008
Case - II :

ADN08 4= 4

Hl= Rx( )—Rs 4501.25
pLL

32. Ans. B

Let CP = x

Acc. to question,

115 xx120
100 100

=>x = 900

Required CP = Rs. 900

= 45

33. Ans. A

2(A+ B+ C)s1-day work = 1/30 + 1/24 + 1/20 = 1/8
A+ B+ C's1day work = 1/16

Work done by A, B and Cin 10 days = 10/16 = 5/8
Remaining work =1 - 5/8 = 3/8

A’s one day work = 1/16 - 1/24 = 1/48

1/48 work is done by A in 1 day

So 3/8 work will be done in 48 * (3/8) = 18 days

34. Ans. D

Let the present ages of Ram, Rohan and Vinay be 3x, 4x
and 5x years respectively.

Now, (3x + 4x + 5x)/3 = 28 —12x = 84—»x = 84/12 =7
So, required Sum = (3x + 4x + (5 + 5) years

(7x+ 10) years

(7 x7 + 10) years

= 59 years
35. Ans. A
fetal distance
Average speed = ———— —
feateal Finida
Let the distance = x km
A o2 %0
verage speed = X . PR
(7+3) (7-3)

36. Ans. A

Water in the mixture — &l :-:l — I} litres
i |

Milk in the mixture = 80 - 20 = 60 litres
Now, 17 litres of water is added to the mixture Then,
required percentage of water in the final mixture
20417 3700 14 1
= ]l = —— =38 — =38 %
BO+17 97 a7 7




37. Ans. C
In opposite direction speed value is added that will be
20 + 5 = 25 km/hr

When it ch to m/sec th 2525_@ /
en it changes to m/sec then ® 18 m/sec
D L 216 sec

Time taken by train
128 ]

38. Ans. A
12C, 4 47
Required Probability = 1- 150 = —E =ﬁ
1

39. Ans. A

Capital of A is employed in business for 10 months = Rs
16000

Capital of B is employed for 8 months = 5/8 x 16000 =
Rs 10000

Capital of C is employed for 6 months = Rs 8000

Thus the ratio of distribution of profit=A: B : C

= 16000 x 10 : 10000 x 8 : 8000 x 6 = 160:80:48

= 10:5:3

Therefore the share of B = 5/18 x 6336 = Rs 1760

Hence Option A is correct

40. Ans. D
Suppose, Income of B = ¥ x

3x
Income of A= —=xX =3 —
1060

2
14 3x
=

100 2

6 3x Sx
= = =%

5 2 5
. 3x 9x

O S T

Income of C =

Tx+15x +1Kx
I+1ﬂ+ — RE000

43x = 860000
x = 20000

9
So, income of C = jxiﬂlﬂl = % 36000

41. Ans. C

&=, 2

42. Ans. E

Cm (B
<>

43. Ans. E

S

Some fountains that are rivers are definitely not ponds.
So, conclusion I follows. And All ponds being fountains is
a possibility also follows.

44, Ans. C

(

only I and II follows

45. Ans. E

Conclusion II & IV follow.

46. Ans. E
G<A=B<C<D
I. G < D (True)
B<E=H

II. H > B (True)

47. Ans. D

A=B<C<D<E>F

Relation can't be established between A&F.
I. A>F (false)

C<D<E=H

II. C = H (False)



48. Ans. C
A<B=C<E
A <E

I.E >A
II. E=A

49, Ans. B

B<C<D=E>F

Relation can't be established between B&F.
I. B>F (false)

C<D=E<I

II. C<I (True)

50. Ans. A

H = E>F>G

I. H>G (True)

A>B<C<D=E

Relation can't be established between H&G.
II. A <E (false)

51. Ans. D
U belongs to the Kota
Flegr Ferson ity
9 ( Mumbal
H] W [aipur
T 1] Kata
[ P Ramchi
5 i Kollaka
4 3 Raipur
3 X Indon:
z T Farie
1 R DCilhi
52. Ans. E

None of them stays on the topmost floor

Floor | Person ity
g U | Mumbai
H W Jaipur
! ] Kota
i F Ranchi |
5 v Walieata |
3 5 Raipur |
3 w Tndnra |
2 T Puns
1 E Delhi
53. Ans. C
P belongs to the Ranchi
Finor | Ferson City
9 0 Mumbai
8 W Jaipur
7 [ Enta
[ P Ranchi
5 ¥ Halkaka
4 = Halper
i X [ndare
b T Pume
1 R Di=lhi

54. Ans. A

Only one floors are there between the floor on which X
stays and the floor on which R stays

Floor | Prrson LCity

£l {1 tumbal
a W Jatpuar
! 1 k.nta
] P Eanchi
5 v Holkata
+ i Eaipar
3 X Idor:
Z T Muns
1 R Di=lhi
55. Ans. D

S belongs to the Raipur

Floor | Parsnn Clity
9@ J Mumbai
& w lalpur
7 i} Kotz
& F Banchi
-y V kolkata
4 i Raipur
3 A Indors
2 T Tune
1 E Delhi

56. Ans. B

Lad
=]
Ln
=
=
bd
]

w
o
|
= |
-
(]
=1

58. Ans. D
A DIB|C|E|G F
3 e|5|1|(4|2 7T
59. Ans. E
AlDIR C E|G|F
36|51 | 4[2]7
60. Ans. C
A|lD|BE C|E|G|F
|5 14|27
61. Ans. E
If'u:-l.l- Ganha
& Taran
1] Taras
Lo Kun
D Tavas
C Kun
r laras
Lo Kun

C is the husband of D
H is the husband of A
E is the husband of B



]
m

H"x
: T
x""--\.\. .-.-___.
L b 5
- g
.-'"'.- l x""\
L
Pl .
L 1 8
A sits in the centre of one of the sides of the square
table.
62. Ans. C
' Rt LT anha
& TFavals
=] Taras
[ Hus
=] Tavas
- [
I Farvsin
= (TR
[ | Wl
C is the husband of D
H is the husband of A
E is the husband of B
o A z
- T o
o -
i .-__.-"'
A W’ -
2 it
/ﬁﬁ f HMR\
b = L
E is the husband of B
63. Ans. C
' Frrurn SEnder
A Tz ek
E FaTmla
a Ea
ju] TFaTml
E B
T a1k
H B
H B

C is the husband of D
H is the husband of A
E is the husband of B
o H

-

l\.\""\.
h Y
x"'\.

__,.-"

-~

.-./
ir

o

1} o L
g’ e LE
~ !
- ~

S

1 i

o

Two people sit between B and C when counted in anti-
clockwise direction from B.

64. Ans. A

'
Frman Crrier
A FEfTd B
[3 [T
L. ik
u (A5 EFIY
3 rds
I Tand
] Rk
H rlks

C is the husband of D
H is the husband of A
E is the husband of B
I 1

| g
E -« y " i
.--'"'.- ¥ \\\\

[ <

I o
D is the wife of C.
65. Ans. E
. Frmen arrrier
A e
L Tammiu
T kisk
n R
T S [
r 4 a S, lammd W
G kisk
Il ke
C is the husband of D
H is the husband of A
E is the husband of B
I H E

H"-\,, .---___.
"\.H .-..-___.-

L + s o A

/’H T

I 4

The position of E with respect to C is Second to the right.

66. Ans. D

i

i+ 13 o
K = E—}j

ok [+ 13

s D————— A




67. Ans. B 71. Ans. B
i i
r :..l-.l _E S T — |
i+] i=1 ||-:| 10m
K == E—H
N KT | T
CThsersi E
HE 4=l k- =k |
M b———— A= G
68. Ans. E frm| =
i+) |
C
A
I
+) -} - :
K < E H E is 2m east of A.
72. Ans. E
- £y
(+) ) +) ) ‘i > F e
M= D——— A G 3 -1
T - = N
69. Ans. B 5 e o 1 3 5
¥ fm R T | R "
W S N (TR
1im
73. Ans. D
- 3m | | SI,.'mb-:ull Letter | symibel |
Such combinations are ;
m m | H’ﬂ:ﬂ | i.jEF'\El | ] E:'U-El. I
74. Ans. A
e 8 Vowel: Number : Number
There is no such combination.
70. Ans. C 75. Ans. D
. P 5t to the left 16 from the left end means 11t from the
Haliu left endi.e.
10m 76. Ans. B
LEN*SEZD A Uun @ F O Y BAZKWMG
5 &
[ H T o
77. Ans. E
SHE = EHS
Tm Tm AND = ADN
TWO = OTW
- WIT = ITW
R GUM = GMU
Therefore, no one word will remain same after arranging
Point C is in south-west of point A. in alphabetical order.
Hence, option E is correct.




78. Ans. E
Second word - AND
Fifth word - GUM

AIBCDEF|G

Therefore,

There are 5 letters between the first letter of the second
word and the first letter of the fifth word.

Hence, option E is correct.

79. Ans. D
Girls are facing south.

kkk

i i
EI-......-.:.. E ; |':.
T o

It is not clear B is to the left or right of D.
Hence Option D is correct

80. Ans. E
There are four such pairs of word i.e. EG, EI, GI and LN.
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